



DOI: <https://doi.org/10.38035/ijphs.v2i3>
<https://creativecommons.org/licenses/by/4.0/>

Analysis of the Accuracy of INA-CBG's Coding for Medical Rehabilitation Outpatients to Facilitate BPJS Claims at Hospital X

Sali Setiatin¹, Hesti Puspita Sari², Shinta Elvira³

¹Politeknik Piksi Ganesha, Bandung, Indonesia, salisetiatin@gmail.com

²Politeknik Piksi Ganesha, Bandung, Indonesia, puspitasarihesti336@gmail.com

³Politeknik Piksi Ganesha, Bandung, Indonesia, Shintaelvira4@gmail.com

Corresponding Author: puspitasarihesti336@gmail.com²

Abstract: The accuracy of diagnosis and procedure coding in the INA-CBG's system is a key factor in the smooth submission of BPJS claims at hospitals. This study aims to analyze the relationship between the accuracy of coding and the validity of BPJS claims in medical rehabilitation outpatients at Hospital X. The method used is mixed methods with a sequential explanatory approach. The quantitative stage analyzed 2,216 patient claim files for January 2025 using the Chi-square test. Next, in-depth interviews were conducted with those responsible for managing outpatient claims to explore the causes of coding inaccuracies. The results show that 96.2% of files were coded correctly, 3.8% were coded incorrectly, and all are pending claims. The Chi-square test shows a significant relationship between coding accuracy and claim eligibility ($p = 0.000$). Qualitative findings revealed major obstacles in the form of differences in interpretation of coding, limited training in coding, and suboptimal hospital information systems. Regular training, improved coordination between units, and development of an electronic recording system in line with medical rehabilitation service needs are recommended. This study is expected to contribute to improving the quality of medical documentation and the effectiveness of health care financing through the INA-CBG's claims system.

Keywords: Accuracy of Codification, INA-CBG's, Medical Rehabilitation, BPJS Claim

INTRODUCTION

According to (Peraturan Presiden, 2018), The Social Security Administration Agency (BPJS) for Health is a legal entity established to administer health insurance programs. In implementing this program, hospitals are one of the health care facilities that collaborate with BPJS Health in providing services to participants of the National Health Insurance (JKN) program. Hospitals, as healthcare institutions, provide promotive, preventive, curative, and rehabilitative services in accordance with (Kemenkes RI, 2020). One of the units that plays an important role in the provision of rehabilitative services is the medical rehabilitation clinic. According to the national guidelines for medical rehabilitation services issued by the Ministry

of Health of the Republic of Indonesia, medical rehabilitation is defined as a form of healthcare that includes medical interventions, physical therapy, occupational therapy, speech therapy, clinical psychological services, and medical social services. All these services aim to restore the physical, mental, social, and vocational functions of patients with impaired bodily functions (Kementerian Kesehatan Republik Indonesia, 2019).

To ensure the quality and continuity of services, every medical action must be documented completely and accurately in medical records, both in written and electronic form as regulated in (Permenkes No. 24, 2022). The information in medical records is then coded using international classification systems, such as the *International Classification of Diseases, 10th Revision* (ICD-10) for diagnoses and the *International Classification of Diseases, 9th Revision, Clinical Modification* (ICD-9-CM) for procedures, which form the basis for clinical data management, health statistics, and claims for reimbursement from the BPJS Kesehatan (Centers for Disease Control and Prevention, 2011; Organization, 2019). Adequate knowledge for health workers is essential to minimize errors in diagnosis coding, which can hinder the BPJS claim process in the INA-CBG's application system (Ramadhiane & Sari, 2021). In addition, this system not only facilitates integrated access and management of patient data, but also plays a role in improving the efficiency and transparency of the BPJS claim process (Fadilah et al., 2024).

However, in practice, there are still various obstacles that cause claims to be pending. Several main factors, such as incomplete documents and errors in the codification process, contribute to the pending BPJS Health claims (Dewi & Setiatin, 2024). In the JKN system, health service claims are submitted using the *Indonesia Case Based Groups* (INA-CBG) method, which is a payment system based on package rates according to specific diagnosis and medical procedures (Kementerian Kesehatan Republik Indonesia, 2016). If the claim file does not meet the specified requirements, the document will be returned to the hospital for revision so that the reimbursement process by BPJS Kesehatan can continue (Widaningtyas et al., 2024). Therefore, hospitals are expected to be able to manage costs effectively in every health service provided to patients (Happy, 2018).

However, inaccuracies in the diagnosis and procedure coding process still frequently occur, negatively impacting the quality of clinical data and causing discrepancies in claim values between hospitals and BPJS. A study at Haji Surabaya General Hospital revealed that pending BPJS claims are triggered by difficulties in reading medical records, incomplete documentation, the absence of standard operating procedures (SOP), and issues with equipment and network infrastructure, which disrupt cash flow and pose potential financial losses for the hospital (Triatmaja et al., 2022). Therefore, periodic evaluation of the accuracy of coding is very important to ensure the smooth running of the claims process and the continuity of hospital services.

Various studies reveal that the accuracy of diagnostic coding has a significant impact on the validity of health service data, tariff calculations, and data-driven decision-making (Maryati et al., 2023). Research by (Sitorus et al., 2023) At Sultan Sulaiman Serdang Bedagai General Hospital, there was a significant correlation between diagnostic coding inaccuracy and pending claim status, caused by incomplete medical records and coding errors. Similar findings at Dr. Soeradji Tirtonegoro General Hospital in Klaten indicate that the accuracy of diagnosis coding significantly contributes to claims approved by BPJS ($p = 0.005$), and recommend coding training and improved collaboration with medical staff (Hapsari et al., 2024).

According to research by (Rizki et al., 2025) revealed that the main factors causing BPJS claim files to be returned were generally due to inaccurate diagnosis coding, incomplete documentation, and a lack of coordination and understanding of claim guidelines. Efforts to improve this situation include training officers, improving coordination, and optimizing electronic medical records to streamline the claim process.

Based on this background, this study aims to analyze the relationship between the accuracy of diagnosis and procedure coding using (ICD-10), (ICD-9-CM), and INA-CBG's on the smoothness of BPJS claims submission for medical rehabilitation outpatient patients at Hospital X. This study analyzed 2,216 patient claim files from January 2025, with coding accuracy as the independent variable and claim status (eligible or pending) as the dependent variable. The focus on the medical rehabilitation outpatient clinic is expected to provide tangible contributions to improving the quality of claim submissions and supporting the sustainability of the hospital financing system.

METHOD

This study uses a mixed methods design with a sequential explanatory approach, namely the collection and analysis of quantitative data followed by the collection and analysis of qualitative data to deepen understanding of the quantitative findings (Creswell, 2014). A quantitative approach was conducted by analyzing all data from medical records and BPJS claims of outpatient rehabilitation patients at Hospital X during the period of January 2025, totaling 2,216 records, using the *total sampling* technique. Claim data were classified based on BPJS claim status, namely eligible and pending. An evaluation of the accuracy of diagnosis coding (ICD-10) and medical procedure coding (ICD-9-CM) was conducted based on verification results from BPJS Health as the primary reference, to avoid discrepancies in interpretation between the hospital and BPJS. Of the total 404 pending files, the hospital made coding corrections, and the results showed that 238 files were approved as eligible for claims, while 166 files remained ineligible or failed to claim. Quantitative analysis was conducted using Microsoft Excel and IBM SPSS Statistics version 25, through descriptive analysis in the form of frequency and percentage, as well as a *Chi-square* test to examine the relationship between coding accuracy and BPJS claim status.

A qualitative approach was used to gain a deeper understanding of the causes of coding inaccuracies and obstacles in the claims process. Data collection techniques were carried out through in-depth interviews with those responsible for managing outpatient claims at Hospital X, which was selected using purposive sampling. The interviews were conducted face-to-face, lasting approximately 30 minutes, recorded, and transcribed verbatim. Data analysis was performed using inductive thematic analysis, grouping information into main themes related to the causes of coding inaccuracies and claim processing challenges.

This study has obtained permission from the head of the medical records unit at Hospital X to use medical records and claim documents. The main data sources in this study include patient medical records, BPJS claim data, and interview transcripts. This mixed methods approach is expected to provide a comprehensive overview of the challenges and strategies in improving accuracy and coding based on INA-CBG's to support the smooth submission of BPJS claims in medical rehabilitation services.

RESULTS AND DISCUSSION

1. Accuracy of Patient Coding

The results of the study related to the accuracy of coding of 2,216 medical records of patients at the medical rehabilitation clinic during the period of January 2025 are as follows.

Table 1. Accuracy of Patient Classification in the Medical Rehabilitation Outpatient Clinic at Hospital X

Accuracy of Codification	Frequency	Total %
Exact	2.132	96,2%
Inappropriate	84	3,8%

Total	2.216	100%
-------	-------	------

Source: Research data, Medical Rehabilitation Clinic, Hospital X, 2025

Based on Table 1, of the total 2,216 patient files in the medical rehabilitation clinic, 2,132 files (96.2%) showed accurate coding, while 84 files (3.8%) had inaccurate coding. The accuracy of coding was assessed based on the consistency between the diagnosis and procedures in the medical record and the coding standards (ICD-10) and (ICD-9-CM).

One example of coding accuracy can be found in the case of a patient diagnosed with communication disorders, postural control disorders, attention disorders, SPD, ASD, and suspected ADHD, which was coded as Z50.8 and R29.3 for diagnosis, and 98.83 and 93.17 for integrated multisensory therapy procedures combined with play therapy. Meanwhile, an example of coding inaccuracy was found in intelligence testing or psychological assessments, which were coded as 94.01 and 94.04, whereas according to BPJS guidelines, they should have been coded as 93.75.

2. Patient Claim File Eligibility

The results of the study on the eligibility of BPJS claims against 2,216 medical records of patients at the medical rehabilitation clinic in January 2025 are as follows.

Table 2. Eligibility of Medical Rehabilitation Outpatient Clinic Patient Files at Hospital X

Document Eligibility	Frequency	Total %
Worthy	1.812	81,8%
Pending	404	18,2%
Total	2.216	100%

Source: Research data, Medical Rehabilitation Clinic, Hospital X, 2025

Based on Table 2, of the total 2,216 files submitted for BPJS claims, 1,812 files (81.8%) were deemed eligible for claims, while 404 files (18.2%) were returned by BPJS verifiers with pending claim status. Of the 404 files with pending claim status, 84 files were pending due to inaccuracies in diagnosis and procedure coding. Seven files were due to administrative completeness issues (such as the absence of the patient's therapist's signature and the absence of an assessment form every two weeks), while 313 files were due to service standard issues, such as fragmentation or repeated visits, visits combined with previous outpatient clinic visits, and medical rehabilitation procedures in one episode with previous rehabilitation procedures.

3. The Relationship Between Code Accuracy and the Validity of BPJS Claims

The results of the study related to the relationship between the accuracy of coding and the eligibility of BPJS claims for 2,216 medical records of patients at the medical rehabilitation clinic in January 2025 are as follows.

Table 3. Results of the Chi-square Test for Medical Rehabilitation Outpatients at Hospital X

Accuracy of Codification	BPJS Claim						P Value
	worthy		Pending		Total		
	n	%	n	%	n	%	
Exact	1.812	81,8%	320	14,4%	2.132	96,2%	
inappropriate	0	0,0%	84	3,8%	84	3,8%	0,000

Total	1.812	81,8%	404	18,2%	2.216	100%
-------	-------	-------	-----	-------	-------	------

Source: Research data, Medical Rehabilitation Clinic, Hospital X, 2025

Statistical analysis using the Chi-square test showed that all files with coding inaccuracies, totaling 84 files (3.8%), were pending claims. Of the 2,132 files (96.2%) with accurate coding, 1,812 files (81.8%) were deemed eligible for claims by BPJS, while the remaining 320 files (14.4%) were pending due to fragmentation and administrative completeness issues.

The results of the *Chi-square* test showed a p-value of 0.000 ($p < 0.05$), indicating a significant relationship between the accuracy of coding and the eligibility of BPJS claims. Thus, accuracy in the diagnosis and procedure coding process has a statistically significant effect on the eligibility of claim files.

Quantitatively, the results of this study are in line with the results of previous studies (Maryati et al., 2023), which states that accuracy in diagnosis coding is a key factor in determining the eligibility of INA-CBG's claims. Incorrect coding not only leads to claim rejection, but also has the potential to reduce the value of claims paid. This is also reinforced by research (Rizki et al., 2025), which identified coding errors as one of the main causes of BPJS claim rejections, in addition to administrative obstacles and incomplete supporting documents. Therefore, coding accuracy is a quality indicator that cannot be ignored in the INA-CBG's claims system.

4. Qualitative Findings from Interviews

The quantitative findings described above indicate a significant relationship between coding accuracy and the smooth processing of BPJS claims. However, to further understand the context and causes behind coding inaccuracies, a qualitative approach is needed. Therefore, in-depth interviews were conducted with the responsible parties for outpatient claim management to explore the processes, challenges, and systemic factors influencing the coding process at the medical rehabilitation clinic.

The process of recording diagnoses and procedures at the medical rehabilitation clinic is carried out by a medical team consisting of doctors, nurses, and therapists. All information is recorded in medical records and special therapy program sheets. The person responsible for managing outpatient claims explains that the special therapy program sheet is an important document because it records the patient's initial condition, therapy plan, and schedule for follow-up actions. This document serves as the basis for the diagnosis and procedure coding process, which distinguishes the medical rehabilitation outpatient clinic from other outpatient services.

The team involved in the coding process consists of a clinical team, a JKN outpatient coding team, and an internal hospital verification team. Collaboration between these teams is important to minimize errors, although differences in perception remain a challenge. In the process, the hospital refers to (ICD-10) and (ICD-9-CM), and uses an internal coding dictionary developed through collaboration with other hospitals in the Bandung and West Java regions to ensure consistency in interpretation.

The involvement of medical rehabilitation specialists is also important in matching and verifying codes, including in the compilation of code dictionaries. However, if there are discrepancies between the hospital and BPJS verifiers, the final decision rests with the specialist. Other challenges include delays in documentation, incomplete documents, and differences in interpretation with BPJS, which often result in claim rejections.

Coding in medical rehabilitation polyclinics is still done manually without the support of a special digital system. This increases the likelihood of differences in interpretation and slows down the claim submission process. Coding training is conducted two to three times a year, but

it is general in nature and not specifically tailored to the needs of medical rehabilitation polyclinics. Coding evaluations are also not conducted systematically, only when claims are rejected. The head of outpatient claim management stated that errors in coding can lead to claim rejections or reductions in the value of claims paid, which ultimately affects hospital revenue.

From a qualitative perspective, in-depth interviews with those responsible for managing outpatient claims revealed a number of factors that affect the accuracy of coding. Among these are the lack of specific training on coding in medical rehabilitation services, the absence of standard operating procedures (SOP) regarding the interpretation of coding between hospitals and BPJS. The responsible claim managers for outpatient care also noted that differences in perception between the hospital's internal team and BPJS verifiers often pose challenges in determining the appropriate coding.

These qualitative findings provide contextual explanations for the quantitative data, while highlighting the causes of coding inaccuracies. The *mixed methods* approach used in this study, according to (Sugiyono, 2022), enables the integration of numerical and narrative data, resulting in a more comprehensive picture of the relationship between the accuracy of coding and the smooth submission of BPJS claims.

Previous research supports this study (Dartini et al., 2024) emphasizing the importance of complete medical records in accordance with the International Classification of Diseases (ICD) standards to improve coding accuracy. (Oktamianiza. et al., 2024) also stated that incomplete diagnosis writing and inaccuracy in code selection are often the main causes of incorrect coding. In addition, research by (Hapsari et al., 2024), shows a significant correlation between routine training for medical personnel or coders and the success of BPJS claims. General training that is not specific to medical rehabilitation clinics, such as that found at Hospital X, is considered insufficiently effective in improving coding accuracy.

Considering all of these findings, it can be concluded that the challenges in managing BPJS claims are not only technical in nature, such as document completeness and code selection, but also involve systemic and structural issues. Issues such as the lack of clear standard operating procedures (SOP) and inadequate dissemination of information regarding INA-CBG coding rules, as well as the low frequency of practical and specific training, constitute obstacles that need to be addressed immediately.

As a solution, strategic steps that can be taken by hospitals include: Developing and disseminating SOP for specific coding for medical rehabilitation services involving BPJS and related units on a regular basis. Providing structured training for coders and medical personnel with a focus on medical rehabilitation cases and updates to INA-CBG's policies. Strengthening internal and external coordination through regular communication forums between units and with BPJS verifiers to align understanding of coding rules. The implementation of these steps is expected to improve coding accuracy, accelerate the claims process, and support the sustainability of medical rehabilitation services.

In addition to technical and systematic factors, it is also important to understand that medical rehabilitation services have different characteristics compared to other medical services. The primary focus of rehabilitation is on functional recovery, long-term rehabilitation, and continuity of care, which rely on continuous documentation and accurate coding systems. Without the support of an appropriate and standardized coding system, preventive and promotive rehabilitation services may be disrupted, potentially reducing patients' quality of life and increasing the long-term financial burden on the national health system. Therefore, this study emphasizes that strengthening the coding system in medical rehabilitation clinics is not only necessary to meet the administrative requirements for BPJS claims but also an integral part of a strategy for sustainable, high-quality healthcare services that are comprehensive and patient-centered.

CONCLUSION

Based on the results of this study, it can be concluded that there is a significant relationship between the accuracy of diagnosis coding and procedures with the smoothness of BPJS claim submissions in medical rehabilitation services at Hospital X, with a *Chi-square* test result showing $p = 0.000$ ($p < 0.05$). Accuracy of coding at 96.2% was correlated with eligible claims, while inaccuracy at 3.8% was entirely pending. Qualitative findings revealed that the main causes of inaccuracy included lack of specific training, absence of standard operating procedures (SOP), and differences in perception between the hospital and BPJS verifiers. The novelty of this study lies in the identification of the need for contextual training and specific SOP for medical rehabilitation service coding to improve the quality of BPJS claims. Therefore, it is recommended that hospitals develop an integrated electronic recording system, strengthen coordination among teams, and establish a coding dictionary as a common reference. Further research is expected to be conducted over a longer period with a broader data scope to strengthen the generalization and implementation of these findings.

REFERENCES

- Centers for Disease Control and Prevention. (2011). ICD-9-CM Official Guidelines for Coding and Reporting (Effective October 1, 2011). In *Centers for Disease Control and Prevention*. https://www.cdc.gov/nchs/data/icd/icd9cm_guidelines_2011.pdf
- Creswell, J. W. (2014). Research Design: Qualitative, Quantitative, and Mixed Methods Approaches. In *SAGE Publications* (4th ed.). SAGE Publications. <https://doi.org/10.1088/1751-8113/44/8/085201>
- Dartini, Ayu, M., Wasita, Nugraha, R. R. R., & Manik, I. G. N. (2024). Analisis Penyebab Pending Klaim Badan Penyelenggara Jaminan Sosial Kesehatan Pasien Rawat Inap Di Rumah Sakit Umum Daerah Wangaya. *Jurnal Informasi Kesehatan Indonesia*, 10(1), 1–11.
- Dewi, R. S., & Setiatin, S. (2024). Analisis Penyebab Pending Klaim Bpjs Kesehatan Pasien Rawat Inap Guna Menunjang Keberhasilan Pengklaiman (Studi Kasus : Rsud Bandung Kiwari). *JHMSS (Journal of Hospital Management Services Students)*, 2(2), 117–125.
- Fadilah, R. A., Abdussalaam, F., & Yunengsih, Y. (2024). Perancangan Sistem Informasi Konsolidasi Integritas Rekam Medis Rawat Jalan Berbasis Web Guna Menunjang Efektivitas Pengklaiman BPJS di Rumah Sakit Hermina Arcamanik Bandung. *Jurnal Indonesia : Manajemen Informatika Dan Komunikasi*, 5(2), 1921–1937. <https://doi.org/10.35870/jimik.v5i2.818>
- Happy, A. (2018). The Implementation of INA-CBGs System Impact on Financial Performance of Public Hospital, the Indonesia Case: A Systematic Review. *KnE Life Sciences*, 1–16. <https://doi.org/10.18502/cls.v4i9.3553>
- Hapsari, D., Sri Wariyanti, A., Adita Kusumawati, E., dr Suradji Tirtonegoro Klaten Jl Soeradji Tirtonegoro No, R., Selatan, K., Tengah, J., Husada Karanganyar Jl Brigjen Katamso Barat, M., Papahan Indah, G., Kec Tasikmadu, P., & Karanganyar, K. (2024). Hubungan Ketepatan Kode Diagnosis Pada Pasien Rawat Inap Dengan Persetujuan Klaim BPJS Di RSUP dr. Soeradji Tirtonegoro Klaten. *Indonesian Journal of Health Information Management (IJHIM)*, 4(1), 1.
- Kemendes RI. (2020). *Peraturan Menteri Kesehatan Republik Indonesia Nomor 3 Tahun 2020 tentang Klasifikasi dan Perizinan Rumah Sakit*. 3, 1–80.
- Kementerian Kesehatan Republik Indonesia. (2016). *Peraturan Menteri Kesehatan Republik Indonesia Nomor 64 Tahun 2016 tentang Perubahan atas Peraturan Menteri Kesehatan Nomor 52 Tahun 2016 tentang Standar Tarif Pelayanan Kesehatan dalam Penyelenggaraan Program Jaminan Kesehatan*. [https://peraturan.bpk.go.id/Home/Download/105417/Permenkes Nomor 64 Tahun 2016.pdf](https://peraturan.bpk.go.id/Home/Download/105417/Permenkes%20Nomor%2064%20Tahun%202016.pdf)

- Kementerian Kesehatan Republik Indonesia. (2019). *Standar Pelayanan Rehabilitasi Medik* (Issue 1). Direktorat Jenderal Pelayanan Kesehatan, Kemenkes RI. <https://manuver.tireg7.net/wp-content/uploads/2024/09/Buku-Standar-Pelayanan-Rehabilitasi-Medik-2019.pdf>
- Maryati, W., Rahayuningrum, I. O., & Hestiana, H. (2023). Ketepatan Kode Diagnosis Chronic Kidney Disease Dalam Mendukung Kelancaran Klaim BPJS Di Rumah Sakit. *Indonesian of Health Information Management Journal (INOHIM)*, 11(1), 43–49. <https://doi.org/10.47007/inohim.v11i1.497>
- Oktamianiza., Rahmadhani., Yulia, Y., Ilahi, V., Putri, K. A., & Juwita, F. S. (2024). Penyebab Pending Klaim Berdasarkan Aspek Diagnosis dan Ketepatan Kode Diagnosis. *J-REMI : Jurnal Rekam Medik Dan Informasi Kesehatan*, 5(4), 282–287. <https://doi.org/10.25047/j-remi.v5i4.4884>
- Organization, W. H. (2019). *International Statistical Classification of Diseases and Related Health Problems, 10th Revision, Volume 2* (Vol. 2). World Health Organization. https://icd.who.int/browse10/Content/statichtml/ICD10Volume2_en_2019.pdf
- Peraturan Presiden. (2018). Peraturan Presiden Republik Indonesia Nomor 82 Tahun 2018 Tentang Jaminan Kesehatan. *Undang-Undang*, 1, 1–74.
- Permenkes No. 24. (2022). Peraturan Menteri Kesehatan RI No 24 tahun 2022 tentang Rekam Medis. *Peraturan Menteri Kesehatan Republik Indonesia Nomor 24 Tahun 2022*, 151(2), 1–19.
- Ramadhiane, I., & Sari, I. (2021). Tinjauan Pengetahuan Perekam Medis dan Informasi Kesehatan Mengenai Aturan Penggunaan ICD 10 dalam Menentukan Diagnosa di RS Bhayangkara TK II Sartika Asih Bandung. *Jurnal Health Sains*, 2(8), 1014–1022. <https://doi.org/10.46799/jhs.v2i8.211>
- Rizki, J. N., Sari, A. A., & Suprihatin, E. (2025). Penyebab Pengembalian Klaim BPJS Rawat Inap Triwulan 1 Tahun 2024 di RSI Sultan Agung Semarang. *J-REMI : Jurnal Rekam Medik Dan Informasi Kesehatan*, 6(2), 156–167. <https://doi.org/10.25047/j-remi.v6i2.5853>
- Sitorus, M. S., Simanjuntak, E., Erlindai, E., Hutasoit, T., & Lumbantoruan, P. M. A. (2023). Hubungan Ketidaktepatan Kode Diagnosa Pasien Rawat Inap Dengan Pending Klaim Ina-Cbg's Di Rsud Sultan Sulaiman Serdang Bedagai. *Jurnal Kesehatan Tambusai*, 4(4), 6038–6050. <https://doi.org/10.31004/jkt.v4i4.21495>
- Sugiyono. (2022). Metode Penelitian Kombinasi (Mixed Methods). In *Alfabeta* (Vol. 28, Issue 17). Alfabeta. <https://www.scribd.com/document/691644831/Metode-Penelitian-2022-SUGIYONO>
- Triatmaja, A. B., Wijayanti, R. A., & Nuraini, N. (2022). Tinjauan Penyebab Klaim Pending Badan Penyelenggara Jaminan Sosial (Bpjs) Kesehatan Di Rsu Haji Surabaya. *J-REMI : Jurnal Rekam Medik Dan Informasi Kesehatan*, 3(2), 131–138. <https://doi.org/10.25047/j-remi.v3i2.2252>
- Widaningtyas, E., Putri Novinawati, F., & Asmorowati, A. (2024). Analisis Pending Klaim Bpjs Rawat Inap Di Rumah Sakit Qim Batang Tahun 2022. *Avicenna : Journal of Health Research*, 7(1), 42–53. <https://doi.org/10.36419/avicenna.v7i1.1028>